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U.G. DEGREE EXAMINATION, NOVEMBER 2019 

Economics 

Allied – INDUSTRIAL ECONOMICS 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define the term industry. 

 öuõÈÀ {ÖÁÚ[PÒ Áøµ¯Ö. 

2. What is meant by cottage industries? 

 Siø\z öuõÈÀ GßÓõÀ GßÚ? 

3. Classify the industries. 

 öuõÈÀxøÓø¯ ÁøP¨£kzx. 

4. Write a note on MNCs. 

 £ßÚõmk {ÖÁÚ[PÒ £ØÔ SÔ¨¦ ÁøµP. 

5. What is industrial productivity? 

 öuõÈÀxøÓ EØ£zvzvÓß GßÓõÀ GßÚ? 

6. State the factors causing industrial sickness. 

 öuõÈÀxøÓ°ß £õv¨¦UPõÚ PõµoPøÍU TÖP. 
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7. List out the advantages of globalisation. 

 E»P©¯©õUP¼ß |ßø©PøÍ¨ £mi¯¼kP. 

8. Give a brief account of disinvestment. 

 ‰»uÚU SøÓ¨¦ £ØÔ _¸UP©õP ÁÇ[SP. 

9. Point out any two features of industrial policy 1948. 

 öuõÈÀ öPõÒøP 1948 Cß HuõÁx Cµsk A®\[PøÍU 

SÔ¨¤kP. 

10. Explain the concept of industrial growth. 

 öuõÈÀxøÓ ÁÍºa] £ØÔ ÂÍUSP. 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) What are the features of industrialisation? 

  öuõÈÀ©¯©õUP¼ß C¯À¦PÒ ¯õøÁ? 

Or 

 (b) Explain about industry and sectoral linkages. 

  öuõÈØxøÓ ©ØÖ® xøÓ \õº¢u Cøn¨¦PÒ £ØÔ 

ÂÍUSP. 

12. (a) Distinguish public and private sector. 

  ö£õxzxøÓø¯²®, uÛ¯õºxøÓø¯²® ÷ÁÖ£kzxP. 

Or 

 (b) State the importance of industrial cooperatives. 

  TmkÓÄzxøÓ°»õÚ öuõÈÀPÎß •UQ¯zxÁzøuU 

TÖP. 
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13. (a) How do you measure industrial productivity? 

  öuõÈÀ xøÓ EØ£zvzvÓøÚ GÆÁõÖ AÍÂkÁõ´? 

Or 

 (b) List out the factors responsible for under utilisation 
of capacity in Industry? 

  öuõÈÀ {ÖÁÚ[PÎß SøÓ¨£¯ß£õmk AÍÂØPõÚ 
PõµoPøÍ¨ £mi¯¼kP. 

14. (a) Write a note on impact of privatization on 
industries. 

  öuõÈÀxøÓ°À uÛ¯õº©¯©õUSu¼ß uõUP® £ØÔ 
SÔ¨¦ ÁøµP. 

Or 

 (b) State the objectives of disinvestment policy. 

  ‰»uÚ SøÓ¨¦U öPõÒøP°ß ÷|õUP[PøÍU TÖP. 

15. (a) Explain the role of state industrial policy in 
industrial development. 

  öuõÈÀ xøÓ •ß÷ÚØÓzvØS ©õ{» öuõÈÀ 
öPõÒøP°ß £[S £ØÔ ÂÍUSP.  

Or 

 (b) Give an account of the economic reforms in India 

  C¢v¯õÂÀ ö£õ¸Íõuõµ ^ºv¸zu[PøÍ¨ £ØÔ 
ÁÇ[SP. 

 Part C  (3  10 =30) 

Answer any three questions. 

16. Discuss the role of industry in economic development. 

 ö£õ¸Íõuõµ ÁÍºa]°À öuõÈÀxøÓ°ß £[QøÚ ÂÁõv. 

17. Explain the advantages and drawbacks of multinational 
companies. 

 £ßÚõmk {ÖÁÚ[PÍõÀ ÂøÍ²® |ßø© ©ØÖ® wø©PøÍ 
ÂÍUSP. 
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18. Examine the productivity in Indian industries. 

 C¢v¯ öuõÈÀ xøÓ°ß EØ£zvz vÓøÚ¨ £ØÔ vÓÚõ´Ä 
ö\´P. 

19. Analyse the issues relating to disinvestment policy. 

 ‰»uÚU SøÓ¨¦UöPõÒøP £ØÔ¯ P¸zxUPøÍ Bµõ´P. 

20. Describe the industrial pattern in India. 

 C¢v¯ öuõÈÀ•øÓ £ØÔ ÂÁ›UP. 
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